77

A\

St SY

DATA C100

11.1

1:1

i

BRACKET SYSTEMS

T BRACKET SYSTEM

SSSSSNNNN

T Bracket & Rafter 50x30:

STRUT - SYSTEM

=2/3w

J

ATTTTEEYY

Strut @ Rafter 50 x 30 max : 1800 mm
: Rafter 90 x 30 max : 2200 mm

T Bracket : 60x8 max : 900 mm
1 BOx8 max : 1500 mm
RAFTER SPACING - Within the geografical areas: UK - |R - NL - DK - BE - FR (west)

RAFTER SPACING B = T Bracket or strut R1= maln rafter
MAIN RAFTERS ONLY R2 = Intermedlary rafter
B B B
R1 R1 R1 N
\
\} L1 181 FLOOR
/
00 {/
max=15
.f —
UPTO 1st FLOOR \
MAIN RAFTERS & intermediairy rafters
. g /
R1 R2 R1 R2
I:l 2 FLOOR
\
N\
)
), 1 15 FLOOR
/
/
300 900 /
/ | 1
/max 900 UPTO 2st FLOOR \
MAIN RAFTERS ONLY
B B B
R1 R1 R1 R1
\
\
A —l
)\
|
//
—1
900 500 // 5th FLCOR
/ ;
/ max 900 UPTO 5th FLOOR \ i 4th FLOOR

J

11.1 datasheet



— SUNSHIELD

\\\\

DATA C100 11.2

50 30

1 T-bracket Standard

90x30

'%&&\&&&\\

\
o 3
e} o

W

213 W

2 Bracing strut system

NIRRT

W

3 Bespoke design
Q support
O o

TN TR

11.2 100




/

\\\\

SUNSHIELD

EXAMPLES C100 11.3

type |l

100

o b

4 various examples
of application

11.3 ¢100




— ]
Z SUNSHIELD profiles |C100 11.4
2 CELLENCE IN SOLAR CONTR
Code
- rafter
- porteur
- Trager
- drager
10.050 50 % 30
// - rafter
L=
9
T - porteur
- Trager
- drager
\;“—%
(g o
10.080 — T="90x 130
- rafter
- porteur
B - Trager
I
- drager
10.020 20 x 30
- C-Louver
- C-Lamelle
- C-Lame
tﬁ( ) - C-Lamel
L 100 i
10.100
add to Aluminium Nylon components
ajoutez Code .. ... +00  mil finish /alu non traité / roh Alu / brut +00  silver / gris / Silber / zilver
2ufiigen +01  anodised / anodisé / eloxiert / geanodiseerd +01  black / noir / Schwarz / zwart
{oevoegen +02  RAL+RAL-NI. +02  brown / marron / braun / bruin

11.4 ¢100 profiles



=Z SUNSHIELD profiles |C100 11.5
/ EXCELLENCE IN SOLAR CONTROI
Code
- facla
| - facla
- Blende - Fries
- voorlijst
10.150 40x155x40
/ - facia
/ - facia
- Blende - Fries
- voorlijst
10.200 . 40x200x40
- couple louver
- lame & couple
- verbindungs Lamel
- koppel lamel
10.097 f g7
addto - Aluminium Nylon components
ajouteza : | Code.. .. +00  mill finish /alu non traité / roh Alu / brut +00  silver / gris / Silber / zilver
aufigen +01  anodised / anodisé / eloxiert / geanodiseerd +01 black/noirISchwarzlzwar_t
loevoegen +02  RAL +RAL-NT. +02  prown / marron / braun / bruin

11.5 ¢100 profiles



Z SUNSHIELD C100 111.6

EXCELL N SOLAR CONTRO

\\

11.6 ¢100




— SU NSH I ELD e
ZZ Seiioict oo fixing C100 |11.7
Code
- connecting angle
/ - support d'angle
@ - Verbindungswinkel
% - verbindingshoek
10.172 40x40x30x4
construction bolts
nuts and washers
) [nox
\ |
T-bolt mushroom hed M8x40
M8x20 M8x20
M8 230 bolt M8
- couple strip
- connecteur
- Kuppelstick
- koppelstrip
10.174 130x30x5
addto Aluminium Nylon components
ajoutez & Code .. ... +00  mil finish /alu non traité / roh Alu / brut +00  silver/ gris / Silber / zilver
afigen +01  anodised / anodisé / eloxiert / geanodiseerd +01  black / noir / Schwarz / zwart
toevoegen 102 RAL +RAL-Nr. +02  brown / marron / braun / bruin

11.7 ¢100 fixing



= S U N S H | E LD
Z SUNSERD C100 |11.8
AN
L=40% of W (projection max 1500)
//
T-Bracket // —
80x8 // N
—————————————————————————————— £/ A
/] T-Bracket /] .
: I o0 J 18
/] of ! 10x20 in bracket /| ©9in rafter — %
/! | = i \ 100 N
rafter 50x30 /f | 7N -
y | AN .
| o _ |
I o - ‘
3 2(
I~
&

W = projectijon




C100 |11.9

)l

SOLAR CONTR

IN

NC

UNSHIELD

XCELL

W

g6l
r _ _ _ _  _ _ _ _ __________ - _______
| [ Jf_l |__| 1
| Lo o X
f I
| I
| I
| I
| I
\\\\\\\\\\\ H— - - - — - — — — — — — — — ||
L | L
_\}J m ﬁ\)/y _
_ - | s
b o © o | P
By 2 S .y | PP
N~ 2 m LS | \\\\\
. mm \_\\\\
(@) et o -
5 ﬂJj 2T
m /@/Y _ﬁ_ 1 - \\\\H\\ _
S W al |
L |
A ﬁ |
\ L il _
iy |
© © H& — — _
pad > T e e
cl I R
P m s _ ////M/
~ % ~ /M//
. @ ¢ L | ~I L
—pmfm < —pmfmt- | S0~
| L] R
L A _
G¢ | Xew sajoy aje|dyoeq |

11.09 ¢100



€100 11.10

JONTROL

'l

SUNSHIELD

W

¢A LA | EéX | IX A 3 d D d \v
13IMOVvHd 1
009 = srog
mxomo
- 005 - 3 g
a 00v = 3
i 00 il =
ucljoaloud
00G1 | 00%L | 0OSL| 00Z) | 00LL| 000L | 006 | 008 |00Z | 009 My
gx0g dins gx0g dls Eom__km_ d
Z-X

11.10 ¢c100




11.11 ¢100

uopoaloid = g

€100 |11.11

]
| =]
i

z

0EX0S -

fzzzﬁzzﬁfz

%08 10 §x09
1240RIq-L [09)8

Ggl ulw

A

M0 %0P=1

TROL

NCE

A\

EXCELL

SUNSHIELD

G-l




